
SRI AMMAN KALVI NILAIYAM 

(tution and tuorial) 

Class: 10                                          Unit test-1                                       Marks:50 

Time: 1.30 Hrs                                                                               Subject: Maths 

I.Choose the correct  answer                                                                       1x=6 

1. The range of the relation R={x,x
2
|x is a prime number less than 13} is 

________________. 

2. A={a,b,p},B={2,3},C={p,q,r,s} then n[(AUC)xB] is _________________. 

3. Let n(A)=m and n(B)=n then the total number of non-empty relations that 

can be defined from A to B is______________. 

4. If f(x)=2x
2
 and g(x) = 1/3x the fog is _______________. 

5. f(x)= (x+1)
3
-(x-1)

3
represents a function which is ________________. 

6. Let f(x)= √1+x
2
 then __________________. 

 

II.Answer the following questions:                                                         7x2=14                                     

1. Let A={xЄN|1<x<4}, b={xЄW|0≤x<2} and c=[xЄN|x< 3].Then verify that. 

i)Ax(BUC) = (AxB)U(AxC) 

2. A={2,-2,3}, B={1,-4}, find AxB, AxA and BxA. 

3. A Relation R is given by the set {(x,y)|y=x+3,xЄ{0,1,2,3,4,5} Determine its 

domain and range 

4.Given f(x)=2x-x
2
 find i)f(x)+f(1)      ii) f(x+1) 

5. let f: A→B be a function defined by f(x) =x/2-1, where A=[2,4,6,10,12}, 

B={0,1,2,4,5,9} represent f by i) set of ordered pairs      ii) an arrow diagram 

6. Find K if fof(K)=5 where f(K)=2K-1  

7.Let f(x)=x
2
-1 find fof. 

III.Answer the following questions;                                                        6x5=30 

1. Let A= the set of  all natural numbers less than 8, B= The set of all prime 

numbers less than 8, C= The set of even prime number verify that. 

i)Ax(B-C) = (AxB)-(AxC) 

ii)(A∩B)xC=(AxC) ∩ (BxC) 

2. A function f is defined by f(x)=2x-3 

 i) find f(0)+f(1) 

                  2 

ii)find x such that f(x)=0 

iii) find x such that f(x)=x 

iv) find x such that f(x)=f(1-x) 
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3. A function f:[-5,9]→R is defined as follows; 

                 6x+1;        -5≤x<2 

f(x)=         5x
2
-1;        2≤x<6 

                            3x-4;         6≤x≤9 

 

                                                    2f(-20)-f(6) 

        Find i)f(-3)+f(2)           iii)  

                                                    f(4)+f(-2) 

        ii) 2f(4)+f(8) 

4. Let A={1,2,3,4} and B={2,5,8,11,14} be two sets, le f: A→B be a function 

given by f(x)=3x-1, Represent this function 

i)by arrow diagram 

ii) In a table form 

iii) as a set of ordered pairs 

iv)In a graphical form 

5. If f(x)=2x+3, g(x)=1-2x and h(x)=3x. prove that to (goh)=(fog)oh 

6. A)if BxA ={(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4)}.find A and B. 

B) If A={5,6},B={4,5,6},C={5,6,7} show that AxA=(BxB)∩(CXC). 
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= mk;kd; fy;tp epiyak; 
(ba+rd; & LNlhhpay;) 

tFg;G: 10               myFj;Njh;T-1             kjpg;ngz;: 50 
Neuk;: 1.30kzp                                 ghlk;: fzpjk; 

rhpahd tpiliaj; jUf.                              1x6=6 

1. R={x,x
2
|x MdJ 13-I tplf; Fiwhd gfh vz;fs;} vd;w cwtpd; 

tPr;rfkhdJ________________. 

2.  A={a,b,c},B={2,3},C={p,q,r} vdpy;.n[(AUC)XB] MdJ_________. 

3. n(A)=m kw;Wk;  n(B)=n  vd;f A-ypUe;J Bf;F tiuaWf;fg;gl;l ntw;W 

fzkpy;yh cwTfspd; nkhj;j vz;zpf;if ____________. 

4.  f(x)=2x
2
 kw;Wk; g(x)=1/3x  vdpy; fog MdJ _______________. 

5.  f(x)=(x+1)
3
-(x-1)

3 Fwpg;gpLk; rhh;ghdJ______________. 

6.  f(x)=√1+x
2 
 vdpy; ______________. 

 

gpd;tUk; midj;J tpdhf;fSf;Fk; tpilasp;                7x2=14 

1. A={xЄN|1<x<4}, b={xЄW|0≤x<2} kw;Wk; c=[xЄN|x<3]vd;f. 

i)Ax(BUC) = (AxB)U(AxC) vd;gij rhpghh;f;f. 

2. A={2,-2,3}, B={1,-4}, vdpy; AxB, AxA kw;Wk; BxA fhz;f. 

3. R vd;w cwT {(x,y)|y=x+3,xЄ{0,1,2,3,4,5} vdf; nfhLf;fg;gl;ls;sJ. 
,jd; kjp;g;gj;ijAk; tPr;rfj;ijAk; fz;lwpf. 

4. f(x)=2x-x
2
 vdf; nfhLf;fg;gl;ls;sJ. i)f(x)+f(1)      ii) f(x+1) Mfpatw;iw 

fhz;f. 

5.  f: A→B vd;w rhh;gfkhdJ f(x) =x/2-1, vd tiuaWf;fg;gl;ls;sJ. 

A=[2,4,6,10,12}, B={0,1,2,4,5,9} Mf ,Uf;Fk; NghJ rhh;G f I gpd;tUk; 

Kiwapy; Fwpf;f.  i) thpirr; Nrhbfspd; fzk;      ii) mk;Gf;Fwp glk;. 

6. fof(K)=5 ,f(K)=2K-1 vdpy;>  K-apd; kjpg;Gf; fhz;f. 

7. f(x)=x
2
-1 vdpy; fof iaf; fhz;f. 

gpd;tUk; midj;J tpdhf;fSf;Fk; tpilasp:               6x5=30 

1.A= vd;gJ 8 I tplf; Fiwthd ,ay; vz;fspd; fz;> B vd;gJ  8 I 

tplf; Fiwthd gfh vz;fspd; fzk; kw;Wk;  C vd;gJ ,ul;il gfh 
vz;fspd; fzk; vdpy; fPo;f;fz;ltw;ws; rhghh;f;f. 

i)Ax(B-C) = (AxB)-(AxC) 

ii)(A∩B)xC=(AxC) ∩ (BxC) 

2. xU rhh;G MdJ f(x)=2x-3 vd tiuaWf;fg;gl;ls;sJ.    

i)  f(0)+f(1)  iaf; fhz;f 

2 

ii)f(x)=0 vdpy; x iaf; fhz;f. 

iii)f(x)=x vdpy; x iaf; fhz;f. 
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iv) f(x)=f(1-x) vdpy; x iaf; fhz;f 

3.f:[-5,9]→R vd;w rhh;ghdJ gpd;tUkhW tiuaWf;fg;gLfpwJ. 
 

                 6x+1;        -5≤x<2 

f(x)=         5x
2
-1;        2≤x<6 

                            3x-4;         6≤x≤9   
 
vd tiuaWf;fg;gLfpwJ. vdpy; gpd;tUtdtw;iwf; fhz;f 

                                                    2f(-20)-f(6) 

  i)f(-3)+f(2)                    iii)  

                                                    f(4)+f(-2) 

ii) 2f(4)+f(8) 

4.Let A={1,2,3,4} kw;wk; B={2,5,8,11,14} vd;gd  ,U fzq;fs; vdpy; f: 

A→B vDk; rhh;G f(x)=3x-1 vdf; nfhlf;fl;Ls;sJ, ,r;rhh;gpidf; nfhz;L 

i) mk;Gf;Fwp tiuglk; 

ii) ml;ltiz 

iii) thpir N[hbfspd; fzk; 

iv)tiuglk; 

5.f(x)=2x+3, g(x)=1-2x kw;Wk; h(x)=3x. vdpy; fo(goh)=(fog)oh vd epWTf. 

6.A)BxA ={(-2,3),(-2,4),(0,3),(0,4),(3,3),(3,4)}vdpy;  A kw;wk; B iaf; 
fhz;f. 

B) A={5,6},B={4,5,6},C={5,6,7} vdpy; AxA=(BxB)∩(CXC) vdf; 

fz;lwpf. 
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